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q) ffegd R) A 9 3) 9 98 99 8) 36§ AL 8¢

Next leap year my birth day is on 17" Tuesday. Select the chances that the month it is in has five
Sundays.

1) Definite 2)1in7 3)11in 12 4) 48 in 366

R A 4SURET TTelell Goald o Gaiehs 2 HI. TTeld ST, FaR ot STeT aiofell dobd ST @ .
FTefd ST, 3T T ST ATSfell gsdt g R HY. @Teld. TR STedl SISell desdl STIOr R H. <Tefd STt 37Ifor
fig C Siges i, SR 1 fig C IR STRebs 8 Hl. dlerd S, o) ot fig A IR fobelt &R 3R ?
q) © . ) Al 3) & . 8) ¢ 4.

Seema starts walking from the point A walks 2 m towards the south. She then takes the left turn
and walks 4 m. She now takes a right turn and walks 2 m. Then takes left turn and walks 2 m and
stopping at a point C. If Seema walks 4 m towards north from point C, how far she is from point
A?

)4m 2)2m 3)6m 4) 8 m

TR T IIIDT AT FTE AR AT (TR dos Y Y gichl. faaremaR sRieR R gufHt T Jerm
SITCAT. T foreaea ST aamt RN % Y 3MTg, oR AT el fopll oy Tetl ?

) ¢ ) Y 3) & 8) 8
The average age of a husband and wife at the time of their marriage was 25 years. A son was born
to them exactly 2 years after their marriage and present average age of all three is 24 yrs. How

many years have they been married ?
)8 2)5 3)6 4)4

g, femeafear afd, a¢ Fesiar Weel, 9 fohhe Wael S € Fedld Wbelel 3fed. g e gt
Wosel SAMEY ¢ fohebe Weselel 3ATedl. TR Pedial Waselel ATaid. U faemeff ey Wesetel Mg aum

PIUATE A Wes Wedelel RN, DIV Mgl T deara Tt ol ?

In a class of 46 students, 18 played football, 17 played cricket including 6 who played football.
16 students played Hockey including 4 who played cricket, but not football. Five students played
carom but no other games. Which of the following figures represent these facts ?

TE § 9 T & QURISITST SUYwh UAUE : JFGHTT et g i/ 4o



4)
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6)

9)
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8)

TehT SRR &4 % PBIeh GRGITER JIHAT UTEAT. 0% BIeb AU aATaidilel ST 4% Bleh gaiusl araicii
3T SRR 1T Sdfies Ureeiral. febell Tep @iep GRGIMER STl UTge T8N feball aciiosl arere
gl

) 4% R) 90% 3) 4% 8) 0%

In a town, 65% people watch the news on television, 40% read newspaper and 25% read a newspaper

and watch the news on television also. What percentage of people neither watch the news on
television nor read a newspaper ?

1) 5% 2) 10% 3) 15% 4) 20%

30 fegdi=an ver Afe=ard U fNaR AT d) T Jigamn ufgeT faxy divr sRis ?

9) IfJeaR Q) AHaR 3) gUAR 8) LhIR
There are five Saturdays in the month of 30 days. What will be the first day of that month ?
1) Sunday 2) Monday 3) Wednesday 4) Friday

9909 T 9800 G fohclt Su a¥ mRd (et ay THIAE 3med) ?

1) Yo Q) 9% 3) 8¢ 8) 8V
How many leap years are there from 1701 to 1900 (both years are included)?
1) 50 2) 49 3) 48 4) 47

WIS AT - AT T qRafde 3Med. §gH fohhedg, 3TRId SR @ Bae Sidcy
qoffad, R

=,

SR eh! Sidex 3MTed 9uT fohahedg, @ SRR T8I o e Seifdds afie ?

9) R )T 3)Q 8)S e

In the following diagram, three groups of professionals are ropresented by following figure. The
hexagon represents the cricketers, the rectangle represents engineers and oval represents the
doctors, then

the persons who are doctors but are not engineers and cricketers are represented by
DR 2)T 3)Q 4)S
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9)

90)

10)

99)

1)

I?)

12)

3)

AT foredT ERTURIT Joard defl M StRepe € ot JfeR aTerd e, FeR yaers 3 foft, FaR e
greftas 9 oY 3T AeR forear Sodiars 8 fat, SR Sfamias o frt anfor 9act forear Sordiars 3 forrft
TTerd Neft, R ot e exrear e e amg ?

q) M Q) T 3) SAY 8) age

Sanvi started from her house and walked 6 km towards north, then 3 km towards east, then 7 km
towards her left and then 4 km to her right, then 10 km towards south and finally 3 km to her right.

In which direction is she from her house ?
1) Southeast 2) Southwest 3) Northeast 4) Northwest

3,9, P, S, 3, B, T 3AM g S M . I dlelead ATd, S[F, TR g 3fdeiar Afe=arr 93
fehar 23 TRWT T, 30 g SRAUTAT AT 93 TREH F 1 defed™d ). 3 € I arefead
Uehrd Afg=ITd ORI 3F <1 drefeas el s/ydl. 3 3Mfor § =1 H&y qF s arefeas s/adl. & a1
aTefead S ALY 3R, § AT aTefead TepT Hig=aredl 2 IR 3R 3 21 93 TREN dleiead Tl
T =7 AT ARG aTefeas AR, TR R S ol DIV ATeiead 3RAe ?

9 9 Q) B 3) 8 8)

A,B,C,D, E, F, Cand H are eight friends. Their birthdays fall on 13th or 22nd of March, June,
September and October. F's birthday is on the 13th of a month with 30 days. A and D's birthdays
are in the same month and A's birthday is earlier. A and B have two friends' birthdays. C's birthday
1s in June. H's birthday is on the 22nd of a month. E has no birthday on the 13th. If C does not have
birthday in the month of March, then whose birthday is on 22nd June?

1)B 2)C 3)H 4)D

anfed FepIdt ¢.30 =T 9Y M el Sohrame! UrRradl. dehRIST wo e SfORT Ulgretedr e
TEpIITIET A st I ael digraer. dodrd! RIS d& BT el ?

9) BB ¢.94 I R) HPIG .90 TNKAT  3) Fehlodl ¢.8Y AT ) Jblod] ¢.0Y TTofll
Adit arrives for a meeting 15 minutes before 8.30 am. He arrived half an hour earlier than his

colleague who arrived 40 minutes late for the meeting. What was the scheduled time of the meeting?
1) 8.15 am 2)9.10 am 3) 8.45 am 4) 8.05 am

tepst MTFOT Ra Jiear SToTedT aard TOIRR 3 : 99 3MME. TRA &1 HIIAIET 9 ¥ g . Badrd ag
Y I ¢Y T IR, SR Yehored afeetid I Y4 TN Yeholual SR 3R, TR Uehored] dfselid AT
ag fobef ?

q) 4y T ?) o ¥ 3) 8y Ay 8) 83 ¥

The ratio of present ages of Pankaj and Gaurav is 3 : 11. Gaurav is 12 years younger than Kavita.
Kavita's age would be 85 years by 7 years. If Pankaj's father is 25 years older than Pankaj, then

how old is Panka;j's father now?
1) 55 years 2) 67 years 3) 45 years 4) 43 years

3Mfed 0 Hiex ITReAT Flerd! T I Sodids gesd! g 30 HieR Irefal. T df Iordies desdt a 3y Hiex
Ierd!. 71 1 STeliehs el d 94 HieR FTetdl. 77 Al §ral Sdihs gosdll a 44 Hiex Treldl. df ATedTIRE,
T JSRRIURET PIvrn e 7 fcft ek R ame?

9) 9y Hex ufeaw ?) 30 iR yd 3) 30 Hiex ufegw ) g4 Hiex gd
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14)
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15)
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Aadit walks 20 metres north then he turns right and walks 30 metres. Then he turns right and
walks 35 metres, then he turns left and walks 15 metres, then he turns left again and walks 15
metres. In which direction and how many metres away is he from his original position ?

1) 15 metres West 2) 30 metres East 3) 30 metres West 4) 45 metres East

RN TIPS Sferdel IRIAT T §:30 Flelel Qi TR eI SRR fahel! arsierd ?

) &30 R) Y130 3) aR:30 8) 3:30
By looking in a mirror, a clock shows 6 : 30 then what is the real time in the clock ?
1) 6:30 2) 5:30 3) 12:30 4) 3:30

ST o ITIT WIATAT gl i Bisel SR 319Ul Tl YT el aaTd 2 auidt 9R =rdett,
SR 37T 9 30 aufa 3 TR ] Hiaw a9 fad 3/ iet ?

9) 8¢ ) 4¢ 3) &< 8) 90

John’s age becomes half that of his brother’s age if we simply add 2 years to his brother’s present
age. If John is 30 years old today then what will be the age of his brother ?

1) 48 2) 58 3) 68 4) 17

S : (94) TSATe, eisx, 94, fRenfAder, 99 smepediaNter TR

-3 3-9 8-3 4-3% &3 ©=-3 ¢-R N 90-19
QR-¥ Q-9 98- 4-=
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